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SCHOLARS ACADEMY

[ General Awareness }

1. Tl WRT O fUPR § 3T & 34 AP IF, T8
ART feaA fear ar 2

Who gave the slogan ‘Freedom is my birth right and |

will have it'?
(a) T MR faa® (b) T ATSTIA I
Bal Gangadhar Tilak Lala Lajpat Rai
© fafmdag e (d) wgTe ekt

Bipin Chandra Pal Mahatma Gandhi

2. Prer e dieTd 38 A 5 5w A walka @ 2
The folk dance named 'Grida' is related to which of the
following states?

(a) DU (b) HE UG
Chhattisgarh Madhya Pradesh
(0 FRES (d) U3 SmE
Jharkhand West Bengal

3. g RETFERRadAPa T A wrmead e ?

Budhi Dihing is a tributary of which of the following

rivers?

(a) WA (b) Terat

Brahmaputra Goda\{ari

() YT (d) I

Yamuna Ganges

4. werfet A H srerpeiaT A § fArenh 31
Mandakini river joins Alaknanda river at

(a) feropsram (b)

Vishnuprayag Karnaprayag

(0 JWANT (d)

Rudraprayag Devprayag

5. a9 P @l P ATE YU HRA & 57949 @ fpw w4
 yafera o S99 ot U weRi fafy g 2

Jabo system of rice cultivation is an indigenous method
of water harvesting prevalent in which of the following
states of India?

(a) PY (b) SR U
Kerala Uttar Prade_sh
() WAlcH (d)

Karnataka Nagaland

6. GRS B TP HIHR ATHS ST P AP DI &

Who is the author of the novel ‘The Last Queen of
Kashmir'?

(a) forom el fearssolt (n) gurgfd

Chitra Banerjee Divakaruni Sudha Murthy

() TaT W (d)

Chetan Bhagat Rakesh Kaul

7. Fufafea 4 3 fra ord & gea a1, g sma 9t
o § 2fire T8 fpar S @ 2

The value of which of the following works is not included
in the calculation of national income?
@ TEPHHABE ST (b) TP TR &I w0

working in a firm building a new house

(0 TNIREADAIITAT  (d) IR FTHR

selling fish in the market housewife's work

8. 39 W frud AR, arau iR =g Wifaw fRufaat
P TEA W, el wrers & &) figan & i yara
B arelt U, S faigai & e favaiar &
SIHHTTUT BT B ?

According to which of the following, if temperature and
other physical conditions remain constant, the current
flowing between two points of a conductor is directly
proportional to the potential difference between the two

points?
(@) g@PIfag (b) 3 &1 am
Hooke's law rules of OM
(© eI (d) UTSpd &l fAaw
Newton's law Pascal's law

9. HRAIG AU & fFd sgde | Swad grTed &t
AIRPTE 1Y HIA P fRd UG B TS § 2
In which article of the Indian Constitution has the
Supreme Court been given the power to issue petitions?

(a) TG 49 (b) 3rTedE 53
Article 49 Article 53
(0 3TdT 32 (d) 3rTeg 41
Article 32 Article 41

10. WP Y Ay AT foad »e fega AT ST @ 2

When is World Voice Day celebrated every year?

(a) 14 30d B (b) 16 3T B
on 14th April on 16th April
(© 17 30d B (d) 15 30d B
on 17th April on 15th April

1. s 1968 W iRy ieh gRT YRa Ft F & guTa=meht
WIfd Bt ol B F g SiIw1ive dR W U 516
fewe ot faman a1 st il A & & T o
A postage stamp was officially issued by Indira Gandhi in
July 1968 to record India's impressive progress in
agriculture. Which of the following was its title?

(a) g B pifa (b) & wifa
wheat revolution white revolution
(0 et wifa (d) wfiawifa

blue revolution green Revolution

12. WY U 3R R & $ 37 Isa) A ufe aof Rydiaw -
IFEER &b e A garait 3R e & aar & g o
STl RT3 | B T HIY Iqd A-1AT S1aT 87
Which of the following agricultural festivals is celebrated
by the tribes in the honor of the god of youth and
strength in the month of September — October every
year in Madhya Pradesh and some other states of India?

(a) Sfcghd UITd (b) YU TEIHT
Attuka} Pongal Pooram Festival
(@) ﬂaq§33,|q§|&qaﬂ (d) HIH AT
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Chandankuda Mahotsavam Karam Mahotsav

13. YR & U™ &1 Fafafad & § S19-a1 sgwe
TRUTRYE a1 8 ¥ 14 af & w7 g & f=ft v a=1
! fHdt PREM a1 WeH | $8 B & forg a1 it
3 GARATD IANTR | g1 T SATQ?
Which of the following Articles of the Constitution of
India defines that no child below the age of 14 years
shall be employed to work in any factory or mine or in
any other hazardous employment?

(a) 3G 24 (b) TG 34
Article 24 Article 34
(€ IIDG 76 TG 89
Article 76 Article 89

14. UG SEHG WH GRT Jigia 3t Foomd a7 & frw
4 o 1>
In which of the following years was the movement
started by Syed Ahmed Khan?
(@) 1890 (b) 1875
() 1789 (d) 1909

15.  f@a®! $t oo & a1g fFds 3197 AT e 51
After whose approval Finland became the 31st NATO

member
(a) SMTRfRrEr (b) gl
Australia Turkiye
(€ WHRd d) 99
India China

16. 3ife=m feaw o1 Ipa ey e I wART AT ?

When is Odisha Day or Utkal Day celebrated?

(@) 2 3MUd 2023 (b) 3 3l 2023

45018 45019

(€ 1 3MUd 2023 (d) 4 MU 2023

45017 45020

17.  frafafaa & 9 f@g wes A YR &1 ugar 9eq
TueTay wyTfud faar o T8 8?

India's first sandalwood museum is being established in
which of the following cities?

(a) TR (b) STIE
Mysore Bengaluru
(0 uem (d) BewTETg
Patna Hyderabad

18, 3ifaw Md TuTe @1 g e A | fPad gr1 1 7€ e
The last Maurya Emperor was assassinated by who
among the following?

(a) fawp@d= (b) PARNER gHA
Vishnuvardhan Kulashekhar Varman
qefiE 3T (d) HEHTHA
Pushyamitra Sunga Mahendravarman

19.  SITHTATVI UG TACHS! & UUTH HEI S RIP BT UGHR
foram g fpan &2

Who has assumed the charge of Principal Director
General of All India Radio and NSD?

Mob. - 01141676717,9312712114

(a) ST TFYT T (b) wimeft A=t
Dr. Vasudha Gupta Meenakshi Lekhi
(© Sifrey d AR

Abhirup Sharma

20.

(a)

Larisa Vanieva

(@]

alexandra marinina

21.

(a)

(@

22.

—
(g)
~

23.

(a)

stalks

(@]

spices

24,

Ramesh Singh

g =i Af@e®T A dufer g9 R 2023 Sitar ?
Which Russian author won the Leipzig Book Prize 20237
GURGIEEICH (b) i

maria vilinska

TageigT wIRFAAT (d) wTRET TuTHET

Maria Stepanova

[ Reasoning ]

A i A, B, C, D, E, F 3R G T% Ufdd & S 3t 3R
Yer a5 eI B Ul P nem A i AT I AB F TS
IR G RIM W BT 81 D, FF 15 3R gk VM TR
BTRIG FP IS MNP TAAISTRIC, G P TS
IR G VI W 93T 81 EBIR A F Fa & d31 31
iR S AT R P IBT R ?

Seven friends A, B, C, D, E, F and G are sitting in a row
facing north. B does not sit in the middle of the row. A
sits second to the right of B. D sits second to the left of F.
G is sitting immediate left of F. C sits second to the right
of G. E is sitting between B and A. Who is sitting in the
middle of the row?

G (b) D

E (d) F

IR 3&R-Tg Ry e €, o A fi= freft e A wrar
T 3R U 3HTd 8| ST SH&R-FYE BT I9- DI
Four letter-clusters have been given, out of which three
are consistent in some manner and one is incongruent.
Select the incongruous letter-cluster.

ZBFL (b) BDHN

MOSY (d) OQus

TNer BT T A 98 WY §, W Y BT — F B

'Marigold' is related to 'flower' in the same way as

'barley’ is to —.

LU} (b) et
pulses
(d)

grains

triirﬁﬁr P,QR SR TG TAH AT PR Te &1 Foft
lza? 1S U, UTd SelT-3erT Ufa) & U &t fzm &Y
FRE IS BIP, SHF B IMISTRIT,QF

%?v%l R & Ugd 3R 91¢ # 9 sAfqadl ot S
THEEI T, RP AN IBTRITTH A P A A ISR ?
Five friends P, Q R, S and T are traveling in a bus.
Everyone is sitting one after the other, in five different
rows, facing the same direction. P is sitting immediately
next to S. T is sitting behind Q. The number of persons
sitting before and after R is same. T is sitting next to R.
Who among these is sitting at the end?
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@ T (b) Q
@© S d P

25. 39 fawpeq &1 994 &%, e T Wen d a8 "9y
2, o g} S T UGSl A F1 12:67:16:?
Select the option which has the same relationship with
the third number as the second number has with the first
number. 12:67:16:7?

(@ 80 (b) 72
() 9 (d) 70

26. U TE famedl # & 39 €SI $T 994 BIfoIQ, &
Frafafaa aoft & wsars g 0) F M W st
32,33,37,46,7?,87
Select the number from the given options which will
come in place of the question mark (?) in the following
series. 32, 33, 37, 46, ?, 87

(@) 60 (b) 52
() 62 (d) 77

27. 39 faoreq &1 w9 &, oaeT AR sreR-Iqg | ad
Y §, S gAY 3I&R-THE T USA &R-IE 4 71 BFX
:PTL: UHE:?

Select the option which has the same relationship with
the third letter-cluster as the second letter-cluster has
with the first letter-cluster. BFX : PTL : UHE : ?

(@ IVS (b) IUS

(¢ IVT (d) HVS

28. I WGl fawey o1 994 o S 33 T Teql BT Arfhd
3R 3rfquf o N sqafRa wwar g1 1. @it i1 afar .
B3 WAVA LY VAR £ 11 )

Select the correct option that arranges the given words
in a logical and meaningful order. I. Class II. Family III.
State IV. Group V. Community

(@ i, v, i, v, i (b) i, v, ii, iv, i

(c) i, i, iv, i, v (dy i, iv, i, v, i

29. fou e faweul & @ 39 snpfa &1 w9 Sifore o) &t 13
sigar ® vy g (7) & I W 31 el B
Select the figure from the given options that can come in
place of the question mark (?) in the given series.

s | Rl -

d 3

(a) (b)

B

() (d)

30, I &R GG BT 999 $ o § 1S e & Naa
T § il T 3 T oM 0 f@ar guf g1 et ¢
-—-WzZC-N-zZCj—-W-—-jn-2z
Select the letter combination which when sequentially
placed in the blank spaces of the given series will
complete the series.c——wzc-n-z¢j—-w-—-jn-z

@ jnjwnzcw ) njnwnzcw
© njjwnczw (d) jnjwzncw

31. feu e Y=l 3R fAehyl & waryd® ud | Smue)
YT # <1 T TP RI B T A B I 8, WA 8
9 AT 1 aei @ R wdita gl g, ok b fofa
Fifore fr few e frspul & § o1 J1/4 freey Y=Y
F1 A S ©U F SR HT 8 (@I 8) |
DY:

() P <a Rifveas wei g1

(i) Yt goi STee &

e

() PO <a RIfPa® sTaer §1

(i) IS oft el <a fafreas T8 €1

Read the given statements and conclusions carefully. You
have to take the information given in the statements to
be true, even if it seems to be at variance with commonly
known facts, and then decide which of the given
conclusions logically follow(s) from the statements. Are).
Statements:

(i) Some dentists are surgeons.

(ii) All surgeons are doctors.

Conclusions:

(i) Some dentists are doctors.

(i) No surgeon is a dentist.

(@) fremd | enR gl (b) wad frewd || SRl
SR FRA & | FRarel

Both conclusions | and Il Only conclusion Il follows.

follow.

© dAdfwd eRAE (d) Faa | FgERT
s 11 SRR FHRar FHAT R
%I Only conclusion | follows.
Neither conclusion | nor
conclusion Il follows.

32. Y78 enpfa & el guvr wfafda &1 aa+ #ifvg, Safe
U Y TSI TS 3R QT AT 3|
Select the correct mirror image of the given figure, while
the mirror is placed on its right side.

l¢

- 0
(a) (b)
9| 9]

33, 39 HEl faweu &1 99+ Fiforg, ot 3w TU reg) & 39
U B gRItar 8, ford ww A 3 3iieht g A Mg
B €l
Select the correct option which shows the order of the
given words in the order in which they appear in the
English dictionary.
1- Court
2-Course

Mob. - 01141676717,9312712114

Page 4




SCHOLARS ACADEMY

3- Courteous

4- Count

5- Courage
(@ 3,5214 (b)y 4,2,51,3
(© 4,523,1 (dy 4,521,3

34, HAY BT TR Y I8 JIY B, o WY S P10
a3l
The relation between ‘pen’ and ‘ink’ is the same as that
between ‘needle’and '___ "’

() R (b) oY

Stiching threads

(0 wfaea (d) DU

model Clothes
35. fRuwg det®r YT P, 3R I =T BT

guﬂﬁvxﬁs-\qﬁuwﬁg (?7)  RIF W 3T qPat
I

910138121443547

Study the given pattern carefully, and select the number
that can come in place of the question mark (?) in it.
910138121443547

65 (b)y 67

59 (dy 78

36. TP A3 B uTar A SINGER $142-30fRar wrar @ 8

GOALEE @1 23-22 férar oirar 81 30t e Wrar & FLEXEN
) fru 7R o @
In a certain code language SINGER is written as 42-30
and GOALEE is written as 23-22. How is FLEXEN written
in that code language?

(@) 19-66 (b)

() 23-43 (d)

37. QT faseul & @ 9 =T BT 949 FIfog, St
?H%@H%ﬂﬁuwﬁg(?)%mwanwﬁﬁ
I
30, 41,57, 78,104, 135, ?
Select the number from the given alternatives which can
come in place of the question mark (?) in the following

—
Q
=

—
(o)
~

25-44
25-49

series.

30,41, 57,78, 104, 135, ?
(a) 240 (b)y 171
() 215 (dy 202

38. U wTE faoedl ® & S HBM $T 994 BIfog, &
?ﬁﬁa%ﬁuwﬁg(?ﬁmwwaﬁﬁ
|
28, 14,14, 21,42, 105, ?
Select the number from the given options which can
come in place of the question mark (?) in the following

series.

28, 14, 14, 21, 42, 105, ?
(@ 210 (b) 305
() 315 (d)y 255

39.

(a)
(@]

40.

—~
0 QU
— =

¥ fImed &1 9g+ Fifore ot Fadt ven 4 it e |
et 3 S gt e ugel e 9 Wafta § ok
B3l HE&HT UTad] §E | et g1
78:87:43:7:65:56

Select the option which is related to the third number in
the same way as the second number is related to the first
number and the sixth number is related to the fifth
number.

78:87:43:7:65:56
33 (b) 34
44 d) 45

I faped &1 9= &Y Y N 3HeR-T4E A W PR
Feiftrd ® O TpR Uge 31eR-THE, gON S1&R-T9g @
e ® |

AF:GL:?:SX

Select the option which is related to the fourth letter-
cluster in the same way as the first letter-cluster is
related to the second letter-cluster.

AF :GL:?7:SX
MR (b) HJ
RM (d) MN

Arithmetical & Numerical Ability

41.

(a)
(@

42.

(a)
(@]

43,

(a)
(@]

44,

TP T DI 5% TS DI fHt AR | gog 71
e &, 3R Tt TS H § 8%URTHR F B
BleH? 90 | I W Tt o w=wie o1t 88274 7
T IR & T B Tl SIS 1 S

5% of the population of a town dies in an epidemic, and
8% of the remaining population panics and leaves the
town. If the total population of the town is currently
88274 then find the total population of the town initially.
1,21,600 (b) 1,01,000

99800 (d) 84500

¥ 9 47,000 ¥ R FR WL 3R 30 gewa o
3000 @ fru| TfE @Y R BT 58,000  I=T §, T ITP
Y BT Ufa=ra fa=m ghm?

Hiru bought an old car for Rs 47,000 and spent Rs 3000
on repairing it. If he sells the car for Rs 58,000, what will
be his profit percentage?

18% (b) 16%

17% (d) 15%

22% @< & & 918 W 17% A1 Ut B & e fpd
T BT 3ifhd g, 3P 9 Yed A a1 3iftrs g
ELT

How much more should the marked price of an article be
than its cost price to get 17% profit even after giving
22% discount?

50% (b) 60%
28% (d) 45%
3 {391 371 30 U & AT UTT FId BIfTTI

Find the ratio of 3 days to 30 hours.
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(a)
(@]

45.

(a)
(©

46.

—
(o)
~

47.

—
Q
=

—
0
~

48.

(a)
(@]

49,

(a)
(@]

50.

12:5
5:12

7:6 (b)
6:7 (d)

P U HAHN & 3500 PT 3= Har 31 5 HEIH & 91
Q $ AT & Ty ITA Jed1 21 afe Q &Y freA aren
ATH P & ATH | 50% S &, @ Q &1 = 9
Pl

P invests 3500 in a business. After 5 months Q joins him
with some investment. If the profit received by Q is 50%
more than the profit of P, then find the investment of Q.
7000 (b) 5000

9000 (d) 6500

A TH BTH B 10 fa-Y & 1 % a1 2 3R B 3t &1
1 20 fo= & 1 B qopar 31 A I Y 5 f= & forw
1Y TS ST Bd § A HTH BT fba-1 HRT JoT
g

A can complete a work in 10 days and B can complete
the same work in 20 days. If both of them work together
for 5 days, what portion of the work will be finished?

3/4 (b)y 1/2

1/3 (d) 1/4

U P TP TR B 40% U 81 39 TP R A1
U I g fear 5iran 8, Rorad 19% urit § sr@ urit &1
TII=Td 26% 81 gY Bt fora=il AT &Y Igar 741 2
A jar of milk contains 40% water. A part of it is replaced
by another milk, which contains 19% water. Now the
percentage of water is 26%. What quantity of milk was
replaced?

2/3 (b) 2/5

1/5 (d)y 1/3

TS o § 31 fvg B vgan g s &) 15 e § @redt
PR 8 | g1 5% o1 @Y 20 firre & @relt war 31 9
frara g Pifda R A 81 31 8, At i sl & gy o
et &= & @reht gt Smgm

There are two holes in a jug. The first strainer empties
the jug in 15 minutes. The second hole empties the jug
in 20 minutes. If leakage is happening at a certain rate,
then in how much time will the jug be emptied through
both the holes?

4/7 (b) 74/7

85/7 (d) 84/7

T i ATYRUI TS BT 4% Ui 1R A2 T4 &
fore 5000 YR T § 98 9 2 94 F g 6.25% Ft
TP R W 3= AfdT B & ST 3 | Wfaad Iw g
YT ATH JTd PIforg|

A person borrows Rs 5000 for 2 years at the rate of 4%
simple interest per annum and lends it to another person
at the rate of 6.25% per annum for 2 years. Find the
profit earned by him every year.

150 (b) 1125

167.5 (d) 125

TR A 10000 P M GF S-SR FBIAT S NSC qdT
PPF W SHURT: 14% TUT 11% & AP Ahgieg saTol BT

(a)
(@]

51.

(a)
(@]

52.

—~
0 QU
— =

53.

(a)
(@]

54.

(a)

30 km/h

(@]

20 km/h

55.

(a)

(16/3) km/h

(@

6 km/h

X 9 = fsd ) afe 2 o & wra sare 9t pa o w
2726 99 § 1 PPF # a1 35t it if¥y fpaet i
Mohit invested an amount of Rs 10000 in two different
schemes NSC and PPF at the compound interest rate of
14% and 11% respectively. If the total amount of interest
received in 2 years is Rs 2726, then what was the amount
invested in PPF?

5000 (b)
6000 (d)

fOrar ok T &Y 3Ry &7 3faR 24 a9 B 1 1 af g e
Pt MY, T B g Mg A SR | frar 3t adam=
g fpait 22

The age difference between father and son is 24 years.
Two years ago the father's age was twice the present age
of the son. What is the present age of the father?

46 (b) 42

44 (d) 38

4000
7000

3/4,5/8, 7/12, 15/16 T 30T FId eI
Find the average of 3/4, 5/8, 7/12, 15/16.
139/192 (b) 135/64
11/32 d) 21/64

TP WA & T 15 e & swra W 25 & it /ger 3t
Tfa A Tt 81 R P faudia fozn & on 3 v Afgan
P 3R frat wrer nifa (& i /gen I aa=r v afe
9 10 fiFe & siavra wR e sng?
Two buses leave a house at an interval of 15 minutes at a
speed of 25 km/hr. At what speed (in km/hr) will a
woman coming from the opposite direction of the house
have to walk so that the buses meet at an interval of 10
minutes?
12 (b)
12.5 (d)

TP ISt ot Ird § 5 fell e i gfE s w
300 freft &Y gft 99 FA | 2 U HH THY AT 7|
S " Tl {1 DI

By increasing the speed of a train by 5 km/hr, it takes 2
hours less to cover a distance of 300 km. Find its normal
speed.

30 ot /der

12.25
12.75

(b) 25 fHHt /ger
25 km/h
20 fopit rger d) 35 feHt et
35 km/h

0id ol # U 3MTeH B A1a (28/3) fpHi/er 81 a8
RT3 faudia fa=m A, yry &t gur= fa=n # fere e
g | fOFT Gg A 81 4RT 71 3 fhan 2

The speed of a man in still water is (28/3) km/hr. It takes
three times the time taken in the opposite direction of
the current than in the same direction of the current.
What is the velocity of the stream?

(16/3) foreli et (b) (20/3) fdlt/eer
(20/3) km/h

(d) (1473) foedt feien
(14/3) km /h

6 faptdt/der
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56.

(a)

12 cm.

(@]

20 cm.

57.

(a)
(@]

58.

—
Q
=

59.

(a)
(@

60.

(a)
(@]

61.

TP UGBV FAYS §, S SR 9, & 4 9t g7

g 3T ol I 4 At 381 8, Huf F Tvars $t oA

Pl

In a right angled triangle, from the geometrical basis, the
perpendicular is 4 cm larger and the hypotenuse is 4 cm
larger than that, calculate the length of the hypotenuse.
12 9. (b) 10 Tt

10 cm.

(d) 8aH.

8 cm.

20 9+,

3 T3 BT TR AT 3R UNTR AT HHT: 7
31X 210 B, T HSATE T BIMT |

If the arithmetic mean and geometric mean of two
numbers are 7 and 2V 10 respectively, then find the
numbers.

54 (b) 220

4,10 (d) 85

170 URART & TP &0 H 115 HIWL, 110 T1T 3R 130
g fid &1 39P 3raTaT, 85 HIBT 3R gY, 75 HIBT 3R
T, 95 TN 3R g4, 70 F= i & 1 g & o framt
mﬁaﬁvgumwm%aﬁr—rmmqﬁl

In a survey of 170 families, 115 drink coffee, 110 tea and
130 drink milk. In addition, 85 drink coffee and milk, 75
coffee and tea, 95 tea and milk, 70 drink all three. Find
out how many use coffee and milk but not tea.

15 (b) 18

20 (d) 25

gfd tan A + cot A = 2 8, W tan2 A + cot? A BT HIF I

If tan A + cot A = 2, then find the value of tan? A + cot?
A.

4 (b)y 2

1 (d 172

R AYT F P01 1:2:3 F guid A § O 9 Bher
BT R F?

If the angles of a triangle are in the ratio 1:2: 3, then
what is the smallest angle?

40° (b) 25°

15° (d) 30°

| HINDI |

Comprehension: f&T T 3rq=d¢ ¥ $© gerfer e €1
fou v fameul &Y Teraar A fYea =AW Td®
T=n ¥ fore 9aw Iuged fAdey &1 997 &¢ | yddig
TR AR AUT (1) aﬂélmuﬁ%uﬁr(a
_ HImUETE)_ ox et vddu T e @)
_ OO &0 P TG I 9UT AT | (5)
WS HIdT ¢ | T & e - (1) & fore
WAt SUged TTeg BT -

(a)
(@]

62.

—~
0 Q
— =

63.

—
Q
~

—
(g}
~

64.
(a)
(@]

65.

(a)
(@

70.
(a)
(@]

71.
(a)
(@

TR ) fe=a

o= (d)

T & fYad ®IM (2) & fore waiRe Suged g g
_IIFIH (b) ot

Tggait d) fret

faT TQ a1 @1 a8 U 3a B KA B IR 71 Ay
aﬁggﬁqﬁ% @ B 3R T ¥ e 1 A1 gt

& I I 3aR ferm|

18 Ffe T ) geeht ¥ a
I d 3qar ferar
ﬁaﬁﬁaﬁﬁwaﬁwwaﬁqm%
(b)
TEIAY (d) TERDU
o R 31 WA & T 999 ST Xeg BT 997 B
| T TROT 1|
BT (o) feamr
3T d) @T

o ®IF B WA & fIe a9 Suga faswed &1 9a+
WIS TR Fasar gl

3N (b) ATEH
ey d) &Y

AT BT UGTgar @ -

=T (b) a9
faey @ fafdra
e ST HeTax &1 el o 3-
TP AG AT (b) fa@R ST
3medaterd gt ST d) forge ST

& M are ¥ Y@ifea o1 &1 ufowfia v & fore
TS SUYH fahed T 991 33 | 59 TP BT Bfud

e fPan 82

Hifes (b) UBIRE
gfea @ fafea
PITHT Weg "URU BT G Treg 7T 87
wmdt (b) faarg
TfoRrETar (d) uTfORIgUT
feu ¢ wreg @1 faeq g1 e

[P (b) T
faus (d) SU®

HeTar 3R 3uF 3 g Wl g o) uga Fifore-

3SR & aR AT - (b) 3iaT fem T - gftea
3y e 3 Hid a1
SR R R 4= - (d) STl & e ST -
wrifer & ¥ ear ¢
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73.

—
Q
-

—
(o)
~

74,
(a)
(@]

75.

—
(o)
~

76.
(a)
(@]

77.

—~
N
~— =

78.

79.

(a)
(@

80.
(a)
(@]

81.

(a)

fou 7T a1 &1 a7 U I B R #is gfe 71 afe
Fis I TR @ 315 IR T T T | FTAR tgaw
(1)/ TG T (2)/3/Hd BT 3 (3)/ PIs qfe TE & (4)
1

(b) 4
2 d) 3
S e H ITP T A1 F oI U g BHT-
LG (b) T

=i (d) TS

o wiT Y gfd & fore et Suge fased &1 9a+
N IzaiHaAgs B

ELELED (b) Weue

Teds (d) dsdE

feu T wreg & FHTTY Wree &1 IUE FY | ITN
Iafa (b) WA

THS (d) IHET
o Tk &1 o e FA T fad e &1 9w
FIT | BRI IS

3Ry BT (b) T AT

U |1 (d) ST

feu v are ¥ Y@ifed @s # ufaxafug $31 & forg
TS IUGFd fadwey &1 991 $< | afe 39 ufawiria
P DI ATGRAD T T8 7, o fAPpeu Tt agama it
ATTIHAT A1 &' BT TI B | WRA | AR §

Faffte auf g g1

TaiRE auf Rl (b) frd agema &t
3TITgHdl Tgl gl

Haifes quf gL | (d) waifere aui g3 gl

fad T2 ATy & Rie e v i) fpe gu
GGG

APy (b) Ppau
FaBrd (d) pad
TRAR® o1 yafgar ¢ -

Ad® (b) TS
qIgsd (d) YUTde

engion |

Comprehension: In the following passage, some words
have been deleted. Read the passage carefully and select
the most appropriate option to fill in each blank. King
Priam of Troy was old and weak, but his son Hector was
a (1) _ and noble young man. Hector had sensed (2)
____when his brother had brought Helen to Troy. He
(3)___ that he must fight for his family but (4) ___the
circumstances that had set hero against hero. the (5) ____
warriors on the Trojan side were Achilles, Aeneas and
Agamemnon. Select the most appropriate option to fill
in blank no. 1.

feeble (b)

valiant

(@]

—
Q
~

—
(g}
~

84.

(a)
(©

85.

(a)
(@]

86.

—
Q
=

87.

(a)
(@]

88.

(a)
(@]

89.
(a)
(@

90.

(a)
(@]

meek (d) timid
Select the most appropriate option to fill in blank no. 2.
limit (b) danger

warning (d) climax

Select the most appropriate option that can substitute
the underlined segment in the given sentence. If there is
no need to substitute it, select 'No substitution required'.
An educated lady makes a better mother than an
uneducated lady, isn't it?
does she (b)
hasn't she (d)

No substitution required
doesn't she

The following sentence has been split into four
segments, Identify the segment that contains a
grammatical error. Had you not / been playing / with a
ball / for morning?

for morning (b)
been playing (d)

with a ball
Had you not

Select the most appropriate option that can substitute
the underlined word in the given sentence, if there is no
need to substitute it, select 'No substitution required'.
Everybody were going to see the circus.

are (b) No substitution required
has (d) was

Select the most appropriate ANTONYM of the given
word. Cautious

Alert (b)
Watchful (d)

Vigilant
Reckless

The following sentence has been divided into parts. One
of them may contain an error. Select the part that
contains the error from the given options. If you don't
find any error, select' No error' as your answer. he
walked so fastly / that | could not / keep pace with him.
He walked so fastly (b) keep pace with him

No error (d) that ! could not

Select the option that can be used as a one-word

substitute for the given group of words. Run after in

order to catch or catch up with
Race (b)
Rush (d)

Sprint
Chase

Select the INCORRECTLY spelt word.
zealous (b) joyous
nervous (d) furous

Select the option that can be used as a one-word
substitute for the given group of words. A list of books
available in a library
Catalogue (b)
Bibliography (d)

Document
Register
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91.

—
(o)
~

92.

(a)
(@]

93.

(a)

(@]

94.

—
Q
=

—
(o)
~

95.

(a)
(@]

96.

(a)
(@]

97.

(a)
(@]

98.
(a)
(@]

99,
(a)

(@]

100.

(a)
(©

SCHOLARS ACADEMY

Select the option that can be used as a one-word
substitute for the given group of words. A small
ornament which hangs down especially from a necklace
Pendant (b) Ring

Diamond (d) Earring

Select the most appropriate meaning of the given idiom.

Go through the roof
Find a secret route (b)
Be very happy (d)

Rise very high
Fall down flat

Select the most appropriate option to fill in the blank.

We can __ ourselves from the rain by wearing a
raincoat.

neglect (b) care

protect (d) defend

Select the most appropriate ANTONYM of the given
word. Innocent

Cunning (b)
Honest (d)

Harmless
Simple

Select the most appropriate option that can substitute
the underlined word in the given sentence. If there is no
need to substitute it, select 'No substitution required'.
They have been living here during ten years.

No substitution required (b) by

since (d) for

The following sentence has been split into four
segments. |dentify the segment that contains a
grammatical error. | decided to / sang a song / in the
interschool / song competition.
in the interschool (b)
sang a song (d)

song competition
| decided to

Select the most appropriate synonym of the given word.
Baffle

Simplify (b)
Confuse (d)

Clarify
Distinguish

Select the INCORRECTLY spelt word.
People (b) Render
Togather (d) Gnaw

Select the most appropriate meaning of the given idiom.

Think on you feet

Be interested in trekking (b)
and running a race

Be ready to take up all (d)
the challenges that you

face

Stand up to be able to
solve a problem
Adjust quickly to
changes and make fast
decisions

Select the most appropriate option to fill in the blank.

The car stopped when the brakes were applied.
boldly (b) immediately
faithfully (d) obediently

[ Basic Familiarity }

101. eﬁamngaquﬁ$m-mﬂﬁmﬁaaﬁm
yfirer o2
Which saint had a major role in the propagation of
Jainism in Haryana?
(a) ¥d APTET Sant (b) ¥ IHEH Sant
Lokacharya Ramdas
(c) Id IFAE Sant (d) W?ﬁ?’ﬁlﬁ Sant
Raghavendra Lohacharya
102. T QUTE PR & THY W YATSY BT ATAS DI AT?
Who was the ruler of Rewari during the time of Mughal
Emperor Akbar?
(@) Ibrahim Lodi SSTEIH (b) Babar STeR
ardt
(c) Ahmad Shah Abdali (d) Hemchandra (Hemu)
TG ME SregTel! TS @)
103.  WRINM® 3MYR WX ghamon o1 fea ausal o
favfora foram mar Ut
Haryana was divided into how many divisions on
administrative basis?
(@ 2 (b) 3
() 4 (d 5
104.  ifae Td IR IO & SR W IS Fi gt B
frat wrH & sfer wa 37
On the basis of physical and chemical properties the soil
of the state is divided into how many parts?
(@) dR four (b) U five
() 9T six (d) VHId seven
105, GedTTqR AP ST giaron & forw fore A &7
Sultanpur National Park is in which district of Haryana?
(a) AW (b)
Gurugram Rohtak
(© udpar (d) WigrETg
Panchkula Faridabad
106.  SfiqeT TS § X9 BT ol forar o= a1 §2
Which is the leading district of the state in Amla
production?
(@) T¥YUTH Gurugram (b) SFSTAT Ambala
(0 RrRETSirsa (d) WRIGISTG Faridabad
107.  fafafes sy=i ¥ 9 98 $Y= ugar-g

1- e GHTYAT & Sferd ey & fore 359 PR |
e Ua e Pri$pH’ I I8 8l

2- 9 B HUTH 3R T $T ST g & fore e g
Wl & o i 3= fomam .

3- fRiwer RiErg TR & T80 WPR Bie 3R
HerH fHaT BY 60% AfRTS) UgH H & 2

4- 5T F i1 U gféor-ufdm & Yefta urn | Riang
;ggﬁm?ﬁm%wmﬁwﬁaaﬁné%l
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(a)
(@]

108.

—~
N
~— =

1009.

—
Q
=

—
0
~

110.

(a)
(@]

111.

(a)
(@]
112.

(a)

(@]

Identify the correct statement from the following
statements

1- For proper management of water resources, the State
Government is running ‘Sports Water Management
Programme’.

2- To increase the production of cotton and sugarcane in
the state, 'Har drop agriculture ke liye’ campaign was
started.

3- Under the sprinkler irrigation project, the government
is providing 60% subsidy to small and medium farmers .
4- The sprinkler irrigation system has been established
for irrigation in the sandy parts of the south and south-
west of the state.

code
18R 21and?2 (b) 23MR32and3
33R43and4 d) A all of them

givamon # Rt Mexamgfea fufor bl fea o o
Ra @
In which district is the Hero motorcycle manufacturing
factory located in Haryana?

(b) TS Rewari

Faridabad
gedd Palwal (d) RETSirsa
giaTon & TREYR URATY] SHeit giarerr fea fora o
fRas
In which district is the Gorakhpur Atomic Power Project
located in Haryana located?

Mewat (b) Uﬁ?ﬁ'ﬁ{ Fatehabad
g»‘\wh Kurukshetra (d) frar=t Bhiwani
R ¥ frw weT § wad uga A ugH
In which city of Haryana did the metro reach first?
W Rewari (b) T®UTH Gurugram
e Hisar (d) AT Karnal

FRATN | IAAHT & e & forg fvat i smafea
P

How many seats are allotted for the members of Rajya
Sabha from Haryana?

5 (b)y 8

10 (d) 12

3-UGTId HaTG HaT Y= B BT I£T |1 AT?
What was the objective of starting ‘e-Panchayat Samvad
Seva?

Tl ) UG FAET (b)  BTHBTS A URGRIAT

Empowering Panchayats ST Bringing
transparency in
functioning

¥ UGl STRSGR  (d)  aragd |fffd o a2

F 1Y e HEY §EMT Empowering

YT HRAT Panchayat Samiti

Establishing direct
relation of village
panchayats with the
government

113.

(a)

114.

(a)
(@]

115.

(a)
(@]

116.

(@]

118.

(a)

(@]

119.

(a)
(@]

120.

U fora &1 eawd fhae 87

What is the area of Gurugram district?

1,253 @t fpeft 1,253 sq () 1,260 ¥t Bt 1,260 sq
km km

1,207 @ fdHt 1,207sq  (d) 1,462 Tt fat 1,462 sq
km km
frafafaa 3 @ o1 91 amymor g 22
Which of the following jewelery is handmade?

TR Langar (b) Tl Pacheli

YHATI Punach (d) Y g All of them

fiSNR Pinjore (b) TFATH Gurugram
ST Rewari (d) 1II'F-"l"II?lPanipat

el AR Rig & [ o1 fomior e wmee 3 seamn
yr?

Which ruler completed the construction of Raja Nahar
Singh's fort?

AT IR RigRaja (b)) T TSR Rig Raja
Balram Singh Nahar Singh
TSIT ¥ 4T Raja (d) oI YR Rig Raja
Ratan Singh Dharamvir Singh
Frafafaa & Qo T sy T T8 #2

Which of the following statement is not correct?

PRGN AyaE™ () mErd fyenfAfl wee
TGS P & a3 amag &1 fER A
Kabircharitam is the Sdiq frare Acharya

main work of Vidyanidhi Shastri

Madhvacharya translated Samaveda in
Hindi

oy weamafda (o) Tidafan e

Hd afig 1 g&I e e 5 ugedt

TG § Vishnu HIa1 § Gandhi

Charitam is the first
poetry of Pandit Shivram
Shastri

Sahasranama is the
main composition of
Pandit Satyadev
Vashistha

TT&RAT S AT | AT BT 3 | DI 91 RIF &2

What is the rank of Haryana in terms of literacy in the

country?
2297 22 th (b) 234di 23 th
2447 24 th (d) 25di 25 th

gharon Tert 7 I WR W U Sag) ok F e af
YT forar ume

In which year did Haryana Steelers participate in the Pro
Kabaddi League at the national level?

¥ 2016 year 2016 (b) a¥ 2017 year 2017

ad 2018 year 2018 (d) ¥ 2019 year 2019

606-647 §. TP YTATR TR AT B 9TAT IR HRA
1 Sifaw fég wure &1 ur?
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Who was the last Hindu emperor of North India to rule
Thanesar from 606-647 AD?

(a) UHTPRaL (b) THESA
Prabhakarvardhan Harshavardhana

(© YabiRE i (d) WAfEUTE Mahipala
Pulakeshin Il

121, UYH HAAYI® ORI BT RIT9-T o 3t i

Who established the first psychological laboratory?

(a) TMeed (by B
galton Plough

(0 duc (d) drea+d
wunt watson

122. 9= @ g gEra: g 3-

Child growth is mainly related to —
(a) MRS e (b) AT faera &
By physical development From social development
(0 wHTaTES faea | (d) e e a

Emotional Development From moral development

(@]

126.

I T DI WU
UMES! 3R SATER B
?ﬁEFIT%I The main
aim of socialization is to
make the child learn the
established norms and
behaviour.

RR AR &S
HATSHSHROT 3R
|mTfoTE = &
UgaYUl $RSI & Y
ﬁﬂﬁ?f%l Rewards
and punishment
operates as important
agents of socialization
and social control.

IR FA & faf
oy o fafeat grr
frafera 'E»'-ﬁ[%l All our
actions and behaviour
are governed by
different rules and
regulation of the
society.

@ 3N Qeifore
TR GHTSHHI &
HEaqUl SRS el ¢
Schools and educational
institutions are not
important agents of
socialization.

wrfasia fRren & ded & g a9 e s A

iy g & it o1

123, frafafEa & @ #1931 fagmua dfe wiearfear &1
IETERT 51 87

Which of the following advertisements is NOT an
example of a gender stereotype?

(a) WEHAYFAPEAE () giﬁ%ﬁﬁwﬂﬁ

In the context of progressive education, the term ‘equal
educational opportunity’ implies that all students should

() ST Ifa, Uy, 1, &7 (b) TP FAM & urea
3R &7 F IR e HH & q1G T
TS B receive e & Rig a7
education as per their T | be allowed to
caste, creed, colour, prove their capability
region and region after receiving an equal

education

© femfeRdcdFIaq () ue I e =t

Ppeard dadt Ud ASHIA
ASPHI A girl playing boy playing tennis in an
football in an advertisement for tennis
advertisement for a racquets.
sports shoe.

(0 foufes & fagmoa o o PR & g &
AP 3T Il TP ASH TP Afgar &1 39 ufa
A girl doing makeup in Wmﬁfﬁﬁ

faftraf i it & S o srgqpera™ &
&M e 11 be YT 3P Hiaw & Hraf
provided education by T GeTI® il be

using the same methods

provided with an

an advertisement for A woman being

lipsticks dropped by her
husband to the office in
an advertisement for a
car
124.  AfAP ab & A, A T@ fF a3y F a=x
T el B Uelld g € i

During moral reasoning, Piaget observe children at
similar ages appeared to be making same mistake

because :
(a) awg’fa‘f%althey (b) I S A B
SEYRT JIGt | they

were belong to same

class. learnt similar concept.
© UG AGBIWERT  (d) SHT 5 g UMl
DI Q% | they were their low 1Q

using the same
reasoning.

125. g@fﬁaﬁﬁaﬁﬂmwmﬁﬂww%ﬁzﬁﬁw
?

Which one of the following is NOT true in context of

socialization?
(a) HHTSHIHIUT BT YA (b) TAR Gt &rf ek

Mob. - 01141676717,9312712114

education that is most
appropriate to them and
their future life at work

and materials without
any distinction

127. {59 yoR &1 RRd v Riere o sru- sam &

feaTd fafisrdaret &1 e v@A § Heg dam?

What kind of pedagogy would enable a teacher to cater
to individual differences among learners in her class?
(a) AFMPIPATTHIAA (b)) T ave A udhemsi w®
Standard and uniform Ffza Totally centered
around exams
(© T @REAUSUgRSd  (d) ey g dehfd
R B Totally Engaging and
centered around contextual
textbooks

128.  fafafdr smenfya Rreror wam &t T 1

Activity based teaching make classroom
(a) SES (R boring (b) TGyl joyful
(c) ga’f%r difficult (d) a=rm110f stressful

129.  Frufafaa & @ o1H-9 yfereT Rrgor uftsar & e

RrereY g1 ye TE & Wt 32
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(a)

130.

(a)

131.

(@]

SCHOLARS ACADEMY

Which among the following roles is NOT served by
teachers during the teaching process?

TP Mgy & wu A
1819 Teacher as a
model

U® AAIPR & Y &
1816 Teacher as
negotiator

TS GHEGdl & &9 o

ﬁT&W Teacher as a
facilitator

LEACRIER R k]
ﬁT&W Teacher as an

expert

P & Afas faer F Rigia & S @  smen
P18 3 P, "Ifa saaeR & 1Y 3 Hedoy &7 Ut
AT, RTE 91 39 WRSR  ufer e it gd
w4 F g AT SawIT $Y 991E I WA 372
"Right behavior consists of doing one's duty, showing
respect for established or lawful authority, and
maintaining given social order for its own sake" is
explained in which stage of Kohlberg's moral

development theory?
3BT ASHT T 3BT
ASH! IHHIHI
Good boy - Nice Girl
Orientation

TR Y, BT
IYPIHT The Social
Contract, Legalistic
Orientation

A Afae Rigia
IEIHT The
Universal Ethical
Principle Orientation
BT Td qaRIT
?FEI,@W Law and

order orientation

TP IR TS fR1&/ &1 a1 ga fF IT& i yRda
3RSl YT & BT e | vy g1 ARy quee §
FNP Uy Y@ 1 Haad ? 6 Rigre 3 Rieor w1 @7
P forar g, @t 9 Fufafaa 3 | feg yron &t

T B Jhdl &7

Once a teacher learned that his South Indian English-
language learners students consider it rude to ask the
teacher questions because questioning implies that the
teacher has done a poor job of teaching, he could
generalize to which one of the following assumptions?

afg IS SfIh o
¥ aret o1 Uy T8
L GRGAA ke |
g S S ATazadHdl
R TIRARBI1f his
English language
learners are not asking
questions, he needs to
ask them why.

ST uRdE BT

T 954 T A §,
dfep 37! guit &1
Haqs I8 81 g1 ¢ &
AT Rad S FUH
ITPT THT 5 Pd
%I South Indian
students are always very
polite, but their silence
can mean they do not
respect him as a teacher.

Mob. - 01141676717,9312712114

% UM U gRor
HRATT BT | gy
HAL 91T HifP d
TG AH TR wI
He should always quiz
his South Indian
students because they
may not be able to
understand.
Rrere W¥pfa ok
e F IR A DIg
HHTAHT g1 P
TPl g1 Teacher
cannot make any
generalizations about
culture and learning.

132.

(a)

(@]

133.

(@]

134.

(a)

(@]

135.

TP T § AR&IUT I B & faefra g1 18 § o
9% 9ivil 31 HaH DI A AP HTH TS T IR §HS
faufia oafeua % wod 81 AR ufssan s= g
Tt TE ardfa® gere & fore AR it &1 1w
T TG 3 -TE1 gl €, 99 dh el qHwnsif W
Sfed SaTe SR GFdl § | I FIaTe & SIS
o & s s Ffaffea da fFawmu d &2

A child has developed the ability to conserve and can
arrange things from smallest to largest and vice-versa.
The thought processes are directed to real events
observed by the child. The child can perform rather
complex operations on problems as long as the
problems are not abstract. The child is at which one of
the following stages of Piaget's theory of Cognitive
Development?

T AfhaTar® TR () Shuive dfparars
Concrete operational TRUT Formal operational
stage stage

HAE IRP TROT vd wfrarars TR
Sensorimotor stage Preoperational stage
fRremelf Hfsa R R 3eTa 1

Learner-centered education based on:

e It e A (b) THE R Same
Teacher's teaching styles interest
T-UTo SRR (d) SafaTa fRrem

[ Preferred Individual learning
learning styles
A): T g gHIT 30 O B Rarar €,

" 33T AER TE § Sl GHR) B U BT & T ITh
ETIAT BT 3"

BRUI (R) : DT ASHT Ud 3t ASPI, I8 TRO1 ¢ St
Pigaatt & Afaw faery Rigia ¥ o sgagr @t
TS FAT & |

Assertion(A): A teacher always teaches their student,
"Good behavior is that which pleases or helps others".
Reason(R): Good boy and Nice girl, is the stage that
explains good behavior in Kohlberg's moral

development th_eory. ] ] ]
AR R IANIIE ) A)MREPITNIAAE
3R (R), (A) T T

3R (R), (A) P HEY
AT 8 | Both (A) and TRT 81 81 Both (A)
(R) are true and (R) is and (R) are true but (R)
the correct explanation is not the correct

of (A). explanation of (A).

(A TG § AfH (R) (d) (A 3R R) ST T
mél (A) is true but %I Both (A) and (R) are
(R) is false. false.

gﬁwgﬁmﬁlwﬁrw%wﬁquﬁ

A. BT Y T I A
;_.ﬁwaﬁawma‘fﬁwaﬁmmﬁaﬁamﬁ

[
C. BT & fHdt dorfetres faftr &1 SuahT #3= a1 @
Fieal T yar A & fore 59 v @ 1 & fore w1

Page 12




D. BT B R s et Pei gE € R oA B 3
P & o1 & fag s
A student makes errors. As a teacher you should not:
A. provide the student the correct answer.
B. allow the student to copy answer from other students.
C. ask the student to use an alternative method or redo it
to find out errors on his/her own.
D. show the student where the errors were made and ask
the student to redo it.
(@ BSRCBandC (b)
(0 D3RADandA

C3RDCandD
(d A3MRBAandB

136. TP Tod1 AUHRY fiia &1 IUAN $S U= THET D
T BT IR= PR 3T 3, a1 S s & SrgaR s=
fru sRT AT 2
A child starts solving the problem by using his divergent
thinking, According to Jean Piaget in which stage he is-
) A usfta s (b) qd AfpaTE® AT
Sensory motor stage Pre-operational stage

(© W dfepareasd @& (d) i

Concrete operational
stage

SIARYT Formal
operational stage

137.  Frafafea & @ o19-w1 Rieror-siieme wftear o1 smam
T
Which one of the following is not the dimension of
teaching-learning process?

(@) ST Learning (b) uﬂT&I'UT Training
'\‘@_e‘ﬁﬁT&IT Schooling (d) ST BT Inquiry

138. U @R % ITT 9T Xfa g H $fy v@an g iR 3
T B 39 W Ug Yo 8, IY Hral-fiar 7 3§ 9gd
I forard fawarg | 3rq wrar-fdr & Mg &
PRUL, IT B UGS ITB! 3 & AR 9gd 374 A
IWRIT ISRV & faprT & fora Rrgia &1 srqu=
TITT ST Wl g7

Seeing that their son Ravi was interested in reading and
could read at the age of 3, his parents got him a lot of
books. Due to his parents' encouragement, Ravi's
reading was way advanced as per his age.

Which principle of development can be inferred from the

above example?
@) e ygEli@auys o) faerafu gl
Development is

ITEROT Tl Bl g
proximodistal.

Development does not
follow a predictable
path.

(0 femiviRmEdl ()
Development is
cephalocaudal

fa®wTa smgafrear sk
TRl & d RN
Siaforar &1 ufkoma 81
Development is a result
of interaction between
heredity and
environment.

139.  gIwaT g=a @Y 3 & # X 71 g
gRfRyfeal  ga=t & dgg v & Y 3us v
Pdl &1 98 T TARIE Hedl & Fif ag ad & i

Mob. - 01141676717,9312712114

(a)

140.

—
Q
=

—
(g)
~

141.

(a)
(@

142.

(a)

(@

SCHOLARS ACADEMY

g BT T 8, WA &) I8 3R 39 g=] B| Heg P

I STaar fRuferal § urdt 81 gt A
aﬁmﬁz Afve e & fra o1 ot yghRia fear
Sudipta works tirelessly to help children escape the
inhuman conditions she had witnessed in her area. She
does this because she believes it is the right thing to do
even though she often finds herself in life-threatening
situations when helping these children. Sudipta
demonstrates which of Kohlberg's stages of moral
development?

SR (b) SFTPINGT ARG

fafm™4 Individualism, U@ The

purpose, and exchange Obedience &
Punishment Orientation

TS 3G Social  (d) WS Afaw figia

contract Universal ethical
principles

Frafaf@a & @ o a1/ sy aE /27

|. 3fS 3R fawra gl &1 U € o 71

| 3fg T & afp faera afe & 81

Il faer i & afes fS e a8 21

Which of the following statements is/are TRUE?

I. Both growth and development means the same thing.
Il Growth is development but development is not
growth.

[l Development is growth but growth is not

development.
13RIl 1and Il (b) Ha Il Only Il
| 3R 11l 1and 1l

11 3R 101 11 and 111 )
fRrem Hifq 2020 & e &g & foa
g%;ﬂ%a%mmn ?v@u

By what name is the National Assessment Center
proposed in the National Education Policy 20207

I GYAN (b) U™ PARAKH
fa=m DISHA e DISKHA
THTfoTD- faprT figia & SR i=-91
HYF gl T8 87

Which statement is NOT correct as per the socio-cultural
development theory?

FRigdw@waas () I8 Risde @
faer # gwTe ok AW gRT wRarfaq
Tpfa ot YfreT R faT 4T 81 This theory

AT 81 This theory is proposed by a Russian

emphasized the role of Scientist.

society and culture in

the development of a

child.

@A Tafad () 39 Risia 3 ywarfaa
foa % urs w4 ok a1 i s 1 wwrs
2R} B weTaaT ° fasra gl & |1y
WG § SfaRTe 71 This 3ia:fomar & FrT 81 This

theory proposed that
scaffolding is the gap in
learning by self and with
the help of others.

theory proposed that
the language
development of the
child takes place
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143.

(a)

144.

(a)

145.

(a)

(@]

146.

(a)

(@]

SCHOLARS ACADEMY

through interaction with
others.

yggait &1 e faer & fFa Rigia o gxifar g -
The combination of Physical, Social, Emotional, Moral,
and Mental aspects refers to the which principle of
development -

RN H G () T &1 Risia
Principle of Principle of Integration
Differentiation of rate

r My < st @ PR -

Principle of Interrelation Principle of continuity

ARF SgEa H&T IaTaRul F T YIS U 3-
The suggestive measures for gender friendly classroom
environment is-

BT Al BT 3MMGEA (b)) ANID deRIAT H

Allocation of classroom mwﬁﬁmm

duties. Sharing of examples of
gender neutrality.

Sl SR TSfPA B () TSHI

HHM U § YT a1 AreATRd ST

ElEY Boys and girls Encourage the

should participate participation of boys.

equally.

TP g 7 3 1w Ui & SurR W Hiel @) Sieq
I gan fasRa $R ot 31 919 9@ Twwg Sngd 7 g,
9 I 1 FHETS IR Sfed TR W H daar
B s & "y faem & fisia & Fafafeg
TN A A BT A1 I 87

A child has developed the ability to sort things on the
basis of their physical properties. The child can perform
rather complex operations also on problems as long as
the issues are not abstract. The child is at which one of
the following stages of Piaget's theory of Cognitive
Development?

7d Gferarere TR (b) SNu=ni¥e Tfharers
Concrete operational TRUT Formal operational
stage stage

HAE IRP TROT (d) qd fparers TRoT

Sensorimotor stage Preoperational stage

T R1ere & U g @) wEIgia 3 Afeas Rugar &)
TuIA & fore i 914 &1 811 Sz s 87

What knowledge should a teacher possess to understand
the individual differences in the psychology of children?

STIaRIedr (b) ST RIBdT Only
TgfaRur &Y Both Heredity

heredity and

environment

Fad TaiaRor Only (d) T gl e st &

HTIRISHT gl &1 A
complete medical check
is required.

Environment

Mob. - 01141676717,9312712114

147.

(a)

148.

(@]

149.

(a)
(@

150.

TP ST A A9 Nifera fifsa s §1 Qe erafy & =
e

There are three polio affected children in a class. During
the games period, they should be

TS PHAAISATANGY () 3T Tl S AY 7P
a1 o g A BT fore Suge @t & uTT
3¢ IS8T P | seated o1 & fore Menfea

in a corner so that these W_'IT?IT%EI

children can enjoy the encouraged to take part
game in the games

appropriate for them,
with other children

Fad 3SR (ITARP)  (d) wem P It faenfiay &
Q! # 4T &1 BY 1Y W & fore faaw
3rgufa 3t afgul AT A1RTI forced to

allowed to take part
only in indoor games

play with all the
students of the class

w1 fore aar & Hafia 3, SUPT SRATH W 1wt
UHTT USdT ¢ | U8 PRS b it & 3iaifa omar 82
The family the child belongs to has a considerable
influence on learning. This factor belongs to which

category?

HIGATHE (b)) HAARIHS BREB
HRP Socio-emotional Psychological Factors
Factors
ARG PRB (d) XfeSPRD

Educational Factor's

% e ol &) TP gaf difsa e g ik 3%
3 3[qeIehT T I TSN H31 P forg Hgar el &%
BT T3 19 a1 3| B T T ¢ Ry &
IR F 0D Fufafea # § e AT aRU 7

A. TP ol BT CTHSIP JYE § ey 3T & 379
g 3t ufshar $H gl 81

B. T ST H HHS X &HAT BT 3R FIAT & |

C. FifF BTl B W A SrerT- e I g |

D. F1{d BT BT SIET- ST YRUME geft §1

A teacher shows the students a documentary video and
tells them to share their observations or opinions. Each
and every student give different opinions. Which of the
following reason behind the difference of opinions given
by students?

A. Because students who belong to a minority group
have low processes of thinking.

B. Because students have the differentiation of
understanding and ability.

C. Because students have varying interests in learning.
D. Because students have different perceptions.
B,CHRDB CandD (b) A BSRCABandC
AB3RDABandD  (d) IJu=rad | All of the

above

Frafafea 91 we=ar 4 9T FIRw:
SfBYT (A): fRraror 3 siftrma &t wfthar & sifigRon
YU 3

[
PRI (R): TRV TP IR & U SThyor 8 v
39T 3 WY HIAl g1

Physiological Factors
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(@]

151.

(a)

152.

(a)

153.

(a)

(@]

154.

SCHOLARS ACADEMY

Critically judge the following:

Assertion (A): Motivation is important in the process of
teaching and learning.

Reason (R): Motivation is attraction towards a goal and
clarifies its meaning.

(A) R R) SN ATl (b) Pad (A) TSI &1 Only
Both (A) and (R) are (A) is correct.

incorrect.

Fada R)TGERIOnly  (d) (A) 3R (R) QT TS B
Both (A) and (R) are

(R) is correct.
correct.

FrufafEa § § 914 91 $3= S faeme |
Hafd araies! & §i9 =T SaURUNSi &1 Fuvar
TR

Which of the following is not the three main concepts
outline by Vygotsky related to cognitive development?

YT HE&pid BT MMYR  (b) Afdd GG H U+t
H language is the root ¥ e dad
of culture ﬁﬁﬁlﬁ@?f%l
individuals learn and
develop within their role
SR ¥ Apia %Ommumty a
(d) HIFq (g
ﬂ?ﬁ"{lﬁ%l culture is gt Y gt 81

significant in learning culture is not affected

by human behaviour

fFrafafaa & @ @19 a1 gurR NEp-2020 F =mfdre farar
AT 4T?

Which of the following reforms was included in NEP-
20207

HHM 3R qaTa=h e (o) Y wR R A

Equitable and inclusive %ﬂﬁﬁﬁiﬂm

education Ensuring Universal

Access at All Levels
EERICPECIRE I d) Sudad aft Al the
ﬁ&rﬁm AT above

(5+3+3+4) New
Curricular and
Pedagogical Structure
(5+3+3+4)

st & AT faRivare & SR R I9g
aﬂaﬁeﬁgwmuwﬁaﬁmﬁmﬂﬁﬁ
fa ¥ & S ST 37

According to Piaget, the ability to group 'objects’
together on the basis of common features is termed as:

STHATDH T (b)
Assimilation

Classification (d)

Accommodation

PHAKT Seriation

I TP HHEAT B HTYRITHS SR AT w0 F
WE_ F 916 39 W U4 T $T UG H1 €, 59
IeTeRVT & faeTa &1 31 a1 Risia waiftra 82

Aryan tries to create questions on a concept after
learning it conceptually and meaningfully, by this
example which principle of development is related?

Mob. - 01141676717,9312712114

@ gmAfRwas (o) saddy w1 Rsia
ﬁl@i’d Principle of Principle of Interrelation
Generality to Specificity

©) fifmarsr (@) siafra o R

155.

157.

(a)
(@

158.

(a)

Rygid Principle of

Individual Differences

Principle of Interaction

AFUBYT (A): Tad AR ATIS GeIihT oAb+ Bt
e iR WRam & ufvomel & saue graied &t
" A8

& (R): Gad 3R IS HeaiH | a1 f[dHr
Haftra wpett nfafafery 3R wg-Afere) & Wit
yeqsi o =nfire faar war g1

Assertion (A): Continuous and Comprehensive Evaluation
gives importance to the continuity of evaluation and the
comprehensive assessment of learning outcomes.
Reasoning (R): Continuous and Comprehensive
Evaluation covers all aspects of school activities
(scholastic and co-scholastic) related to child
development.

(A) MR R SNITE  (b) (A)aﬁ?(R)aﬁfamw

Both (A) and (R) are true %I Both (A) and (R) are
false

(A) 9 g, AfP (R) d) (A) 3 §, AfPp (R)

W%I (A) is true, but W%I (A) is false, but

(R) is false (R) is true

JftrH ¥ IR A Fefafea A 4 e aradi 82

Which of the following is correct about learning?

f (b) UTGUYRAD Bl THHATA
Bl & 3ifenry & I 2 &Y e &t
HHRIAD AN AT HalaH o1 Faet g |
H Rigidity in the Textbooks are the only
curriculum makes

source that can make
positive way in learning the learning best.
of the students.

e sk s ey Wt (o) Sudaa Wt Al the
BE & AT B above
gHIfad Bd %I Teacher

and students relation
also impact the learning
of the students.

AN & U TG 3H BT JTAB BHIA BT DIV ©, I8
JaEIH gRT Igd deit & W@l 3, 3P AR A=
P T DI R DI A1 HAlagP Rigid (AR @2
Nancy has a skill of observing things, she learns very fast
by observing, according to you which psychologist
theory is dependent on this skill of Nancy?

Ausubel (b) PIFR Kohler
WG Bandura (d) e AfAT Kurt Lewin

THTR gt B &7 SR Wi a1a o™ 1 7o
W ufthard &1 A 2reg forae fawe

Proximal distance zone and scaffolding are some of the
major processes of child development. Who gave these

words?
91 Rousseau (b) EITsTﬁT\TCﬁVygotsky
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SCHOLARS ACADEMY

(c) PIEAEI Kohlberg (d) T Piaget
159. Wd P AR Rigid & ufduee $19 9 2

Who was the propounder of Anticipatory theory of Play ?
(@) Tel A Karl Groos (b) S, @'-'ﬁﬁETH G.
Stanley Hall

(c) fﬁ:ﬁ—i"ﬁf Mc-Daugall (d) TSI Lazarus

160. AT3fPd Ta H A &1 1 Wpex aaT Ja- |
HETIdT HA1 ¢ | TgT SHRATH F RIFTRY BT PR §
The knowledge of balancing in cycling helps in learning
of scooter driving. The type of transfer of learning here is

(a) HPRIHAD RMARU (b)) TPRIAD RIHCEROT

Positive transfer Negative transfer

(© AR Zero  (d) fguefia ®ymiaRor

transfer Bilateral transfer

161.  USHISI (Pedagogy) : HRYCY Bl IUERT BT 3-
Computer is used in pedagogy —

(a) AT HIRTAHA (b)) VIS IF A & frw

to motivate the trainee to give feedback

(o) areaTdf & |ry (d) SWRIFa w & forg
uﬁm%ﬁlﬁ for all of the above

For feedback with Talimarthi

162.  g9c-1(B) UYLl e fHar ar?

Inset-1(B) When was it launched?
(@) 30 30, 1983 (b) 30 3R, 1983
April 30, 1983 August 30, 1983
© 30 feTwaR, 1983 (d) 30 SFa3, 1984
December 30, 1983 January 30, 1984

163. AT Y At (Information highway) 9T E (net) %—

Information highway or net is —

(a) PR (b) SexAe
Computer Internet
(© TeME (d) B
intranet keyboard

164. ARG IS SHT | FaT AT 37
What is meant by ‘psychiatric domain'?
(a) WIS DI (b) MRS faera
mental skills physical development
(c) M faprT (d) HFRTS a1 ARG
emotional development RG]
mental or physical skills

165. WIS S A fbast A gt &2

How many categories are there in cognitive domain?
(@) 4 by 3
(0 6 (d) 5

166. fada (Thinking) dxdd: (essentially) g e-

Thinking is essentially —

(a) WANRS ufehar (b) WIS 9
psychomotor process psychological facts
() YHIATHD ATRUT (d) HIFTHS fopar

emotional behavior cognitive function

five times and make it

167. dyifae fia &1 Fuifae ve «=m giar g2

What is the decisive aspect of scientific thinking?

(@) |HHAT (b)

Problem result

© fafy (d) ufteedar
Method hypothesis

168. gl R Td g Fa A 3 frw @ ¥ ema &2

Attitudes, interests and values come under which of the

following areas?
(a) WIS &4 & (b) FARTCATES & &

in cognitive domain in the psychodynamic area
(0 AT &7 A (d)

in the emotional sphere contemplative

169. PIgAS & Afae g & fAaferad ol § 4 fFa

TROT H FUUTS & =R Bt P IRy g7

Which of the following stages of Kohlberg's Moral

Judgment share its many features with Piaget's stages.
(@) ©WRUT2,WROT3,WROT5 (b)) TROT 1, TROT 2, TROT 3
Stage 2, Stage 3 and Stage 5  Stage 1, Stage 2 and Stage 3
() TWRUT2,WRUT4,TWROT6  (d) TROT1, TROT 2, TRUT5
Stage 2, Stage 4 and Stage 6  Stage 1, Stage 2 and Stage 5

170. frfafEd & Q@ 19 Figaat & Afde e & 6 IR

# | Ugen RUT §?
Which of the following is the first stage of Kohlberg's six
stages of moral development?
(a) WIS AARITTAN  (b) 3D IRWNRS T&H
ELCE] Good Interpersonal
Maintaining the social order  Relationships
(0 WIS a3 (d) TP 3R gUs
feaa SfUerR Obedience and punishment

Social contract and

individual

171. U GHTGRN F&m A wfaar uer & fore sy o #r?

What would you do to teach poetry in an inclusive

classroom?
(a) PAAIHITURDISIA () Hiddl Bl UgH & forg
G, arfes |t s T 9 3 faftray &1
TR A e o 9% TN B3, A1 gl
The poem will be recited on a 3! faft sl &
tape recorder, so that all the MWWWW
children can pay attention. SR fra u&

More than one method will
be used to teach poetry, so
that children get the
opportunity to experience it
through different senses.

©) w'z?rasﬁmaﬁlﬁ’a d) BRAATH IEITRER

IR AT, UTS i Tl P uga d

HeaTed, arfe |t a=it R aR R & A SR

P AT | 31T WY ITD! 3R Hhd FIP
Will recite the same poem ﬁ?ﬂ“ﬁ?—“ﬁ?ﬁ‘ﬁﬁ

Write the poem on chart

recited, so that all the paper and put it on the wall

Mob. - 01141676717,9312712114
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SCHOLARS ACADEMY

children can understand it.

172, qHTAM Rgm-
inclusive education-

(a) IS W=l HBR
yfehataf S erar gt
?

Promotes rigorous

admissions processes

(© TR R g A
Rrerel @1 aftifa o
AR

Relates to appointing

teachers from marginalized

sections

away from the reach of
children and point to it and
read the poem out loud.

(b) e @) fRrem

HARIYO) | TR
Pertains to the education of
facts (indoctrination)

(d) T H fafyear a1
I g @
celebrates diversity in the

classroom

177.

178.

173. U wHTaRN fRram yomedt 5= o —— &1 3
AT UG A 8-
An inclusive education system provides children with
appropriate opportunities to

(a) e (b) 3T IB™
to play to enjoy
(© BB (d)
to work learning
174.  SASTAI TG e wiepfa® e ok o=l o
I A1 US 954 AE 7@l 87

Which tree holds great importance in tribal socio-

179.

180.

economic cultural life and children?

(a) TIEPIIS (b) WIga BT US
Banyan Tree Mahul tree

© UuadIUs d) TARTTHTUS
Ficus tree Coconut tree

BHE P Ifofa M (acquired knowledge) P ST P B
fore v ® ot o arett wfafer 8-
The technique used to check the acquired knowledge of
students is —
(a) uraror fafer (b) waver fafy
test method purpose method
(© wyRrR fafd (d) e fafy
question and answer method Inspection Method
<t &1 gwa 9 Biaa uIgH w1 31 ufhar 8-
The process of finding out someone's worth and value is
(a) tefOT (b) WU
tests measurement
(0 ST (d) Hedied
assessment Evaluation
HHTSHSHRYT B faRtyar -4t 37

What is the characteristic of socialization?

(a) mﬂmmﬁ

inculcate basic discipline

(0 3rpat frder At sremaa
TR UTW 19 a1 BT

knowledge or skill acquired

by instruction or study alone

(b) AT TS |/
HAER BT

behave abnormally

(d) U fafkme awi & drm
P faRiwang ek 3=

Characteristics and

knowledge of a specific class

of people

UATIRId FHTSIBUT BT T 3 272

What does anticipatory socialization mean?

@) Siaq & urafae a1
R=STet ot & Ry &1
JHTSITHROT

Socialization of the child in
the primary or early years of

(b) Yd TAFING W@ Pt
geR R AR F
Siia= # uRkgd= &t
e & =u # 9¢ A
P WPR [ B1

175.  qedied &1 waiiire srfguf I8 8-

The most meaningful way of evaluation is —

(a) fRaR iR faga (b) =HF 3ia A ggach
e e A=

Continuous and detailed taking objective exams at the

evaluation end of term

(0 fenflai o1 ogEafed (o) AR USld gedie
s @ Semester Method Evaluation

Maintaining cumulative
records of students

176.  STYD HeOIPH ... ¥F fufor & gfaa srar gl

Comprehensive evaluation informs the determination

(b) Wit fawa
theoretical subjects
(d) Hewfera Fufor adtgor

integrated assessment test

(a) HG-NEATI Ygfxr
co-teaching trend

© fére R Te-Afdres
a=

Scholastic and co-scholastic
areas

life ufsear
The process of removing
former behavioral patterns
and accepting new ones as
part of a change in a person's

life.
© URPaI RS gRIATE (d) e F W& R,
g e g &t U 97 30 JHBE
m?ﬁgﬁﬂ | AT SaRoT §
Txpfa H 9gd Ugayu urs
The process by which Wrar 21

humans learn the culture of a During the developmental

group in anticipation of stage, a child learns very

joining the group. important lessons in social
conduct from his peers.

181. Tt aufaa & faewra & Rign 3t «am yftrer g1t 27

I. g faenfay &) Rieror Srwrd ueH S g, & 3=
Sieq § &1 s34 & forg ImiiRe, aafe aur
ITATRS ¥4 A IR Sl 2|

II. S 18T T T JHTS B §91¢ @1 J Heg
Pl 8, SN Rfera Tarea Tgyra Suviadrsit aur
TR P YR Bl 2
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What role does education play in the development of
the person?

I It imparts teaching skills to the students which makes
them physically, mentally and socially ready to work in
life.

Il. Higher education helps to maintain a healthy society
that education prepares health, care, consumers and

professionals
(a) Wad | by TEITEN

Only | Neither | nor Il
() 1T Il G (d) Faall
Both I and Il Only Il

182, fafafeEa & ¥ w19-u1 wife sifufe=rw s=g@
Rrgmma &1 = fag 82

Which of the following is the focal point of peace
orientation in education?

(a) Pad ATURUISTIPT (b)) ST ARN & ATY
wfaeRor R1SE BT FRATT BT

Retention of concepts only Treason with others

() Had gIg HIA BT (d) cafeaTa w&al B U
e BT

Testing only to remember To get personal targets

183.  UTouspH e 3R GUR # AP UreTsd HHIS B
o fiar & 37
What is the current concern of the National Curriculum
Framework in curriculum development and reform?

(a) SEIFfIUUSTF (b)) T B UTCAYAD b
AR 3R A1 1y 73 avE | gAfa
CEIEI HAT

Making the curriculum Ensuring children are fully

inclusive and meaningful for  equipped with textbooks

children
© e Hfea Rren (d) = P HHTSHHI0T TR
AT Higd HeT

teacher centered education
Focusing on the socialization

of children

184. T &1 AA@S FIT 81 87
What does not mean knowledge?

(a) AT 3R HAT 3rfuuf fRrem

think and do meaningful education

(© TP BITRU AR (d) w@d iR gfrar &
LER I HTGT ST

Information storage and making sense of self and

retrieval world

185.  NATHTINTG &0 & IUART ST IATGP PI AHTUROT ad
AN B S i
The concept of producing socially useful work was
implemented in the year-

(@ 1977 (b) 1966

() 1986 (d) 2005

186. WRd A 8-Rign Fafaf@add s 32
Which of the following is home education in India?

(@) S-S AR & forg  (b)  3reT-3enT @i & forg
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ftqaiyes fRram Iofes fRam
formal education for different Alternative education for
people different people
(€ SRNT-JERT AN S AT (d) S-S Rl & forg
oy e o fRrem
Distance learning for non-formal education for
different people different people

187. TSP & F=ll & ¢ 9161 7[5, TR, wraiford fRiem, wha
faenfa & forg Rrem armh &1 faaon, Rign waiee-
T 3R YR BT SR SIS ........... HNEGIY
ST w% faf= amfam g
Children's homes, homes for street children, sponsored
education, distribution of educational material to poor
students, education sponsor-schools and tuition fees and
orphanages run by various There are programs.
(a) Hiewg (b)
cw DCW
© TggH TTHA DI 781
SUDS none of these
188. TAYIWT (NUEPA) H&Ia: fpat aifta 82
NUEPA (NUEPA) is mainly related to?
(a) eifOrs ITUTA Qe gpar
educational care academic unity
(© e g (d) RieiOrs geaiw

educational plan academic evaluation

189. STH U BIF AT WYSN AT3edig fafafe =gt 32
Which of the following is not a community outreach
activity?

(a) TP AIGRGATDTUPH  (b) AR BRIHH

Adult Literacy Program health program

(0 oruarel IRAMHA  (d) el yHor
wWaadt et educational tour

Volunteer work in hospitals

and fairs

190.  NLM &7 qUf =0 7 87
What is the full form of NLM?
(@) RFafEARA (b)) A A Bive fRE
National Literacy Mission National Low Cost Mission
(© A=Ia afT fime (d) “=Fd dad e

National Learning Mission National Level Mission

191. ¥pa ¥ oifew oRS F18?
What are the risk factors in school?
(a) BT BT @A ) SRERfEra U, srawsar
student health Sﬁ?wsmvﬂﬁ
Unsafe water, uncleanliness
and poor hygiene
(d) et o1 aar

attitude of teachers

192.  fm o @ 9t fofa a7 arelt wpa nfafaflRmat & um o=
¥ forg wrar-far +) wiewfed forar s anfee, Rame-
Parents should be encouraged to participate in all of the
following decision-making school activities, except:

(a) WTHINIG U F IWNM (b)) HiRplad A S

(0 T@AURER

school campus
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nfafaferay &
socially useful activities
(€ UNETIUR &

for exam improvement

of cultural events

(d) ¥ LABH b

school uniform

193.  ifAP! T B APl &7

What can statistics do?

(@) PO Mafa@sraswdl () Fo W @ ymfa
g PR AP §

can prove anything can disprove anything

© Tapgeftafawm (@) TEIA BT TG

3T YHTOTd B
Todl 21 98 Had T
FRAR§

none of these

Neither can prove or
disprove anything. it's just a
weapon
194, W1eA frareT $9& SRTER ElaT 8-
Mean deviation is equal to —
(@ 1/3s (b) 4/5s
() 1/5Q.D. (d) 5/6 QD.

195.  aTAToIE fagT= fRgor & g sy gwial ST wanT =i
P A T fawel ¥ & I Sfua &R &) gfAg)
Why would you use narratives to teach social science?
Choose the most appropriate reason from the given

options.
(a) UTSUHH Pt B () Rrenfia w @deasha
giféa o a9 1 9& o9 3 sSfaa
ensure completion of the TRt BT U1 B AP
curriculum To sensitize the learners so

that they can know the
appropriate role model

() P& HARSS T d) SraYURUM3M P Fsilg

Hollq 91 9 Jreafa@arsi & a1y
make the class interesting Gﬁ%’ﬂa?
and lively connect concepts to lived
realities

196. 39 UfgTRI® Hou- o1 vy 7 g Fafafeaa d d
Ted Sfua fawer & gl

Why would you ask a question of historical imagination?
Choose the most appropriate option from the following.

(@) TR uesmaidt (b) Tgeufarefe
gfageR

Tg G T ATD gfoe A

GECINS ST HeT & ATy
This is an interesting way to F 3Rl B GRT hdl
remember dates and events %

It shows how the historian
fills in the gaps in history with
his imagination.

(d) Ug Hidl P UgaA A
gt ot araer 1
Yo ST 8

It evaluates learners' ability to

identify sources

() U IHTT BT 3rdid &
Y qAAT HRA |
TieaTed Ha ©

It encourages comparison of

the present with the past

Mob. - 01141676717,9312712114

SCHOLARS ACADEMY

197. 3 WYfH® WX W WIS TG AeH1fad siiad 3t
T6g-gad! | fafafad fawal § & foad g
vy wftifera @7
Content related to which of the following subjects is
included in the text books of social and political life at
the upper primary level?

(a) SfTRISHT TFa (b) TAaE
International relations Psychology

(0 SR (d
Economics philosophy

198. I &g DI g ol T ¢ Wt & WA o1 13-

Active
Choose the word that means the same as the given
word.
active
(@) Slothful (b) Indolent
(c) Energetic (d) Lethargic

199. 39 sg B A N a8 ¢ a1 o1 wfowuifia srar 8-
One who attends to the teeth.
Choose the word that can substitute the given sentence.
One who attends to the teeth.
(@ Oculist (b) Mercer
Undertaker (d) Dentist

—
(g}
~

200. FrufafEd # | $19 o1& JTURIN & q8d HTURUN
frator st yunfae e A Yfrer Rumar g 2
| TRER & T & T T
||, SR P
. ATYRT Ry
Which of the following plays a role in influencing the
concept formation under self concept ?
. Relationship with the family members
[l. Memorization skills
1. Ordinal position

@) 1l 3R 11 g () 1,113
Both Il and llI I, I'and 1l

© 1311 d) 1313
Both | and IlI Both I and Il
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